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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. 30 TG F A § gl 3 weeA-qias vd 3 v 3R Seen-efe # R v et @ e
¥ 9g ol

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. WR-UH, 80 WAl & WY WA-YRFAH F F #H §, S Ao Petad ¥ aur vde w1 3@ @ R
o o fawed §, e & S v Aoy rddy e &1
The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. rfdEl @ 3 A AR 3o e # R AT el F e, 3 O 3N Seer o & W9 gerer

ST/l TATET & Sl U1 U § el a1 Tl el &1 9 FT 3

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5. W qfeashr A & v v w3l I9er A wd wAe o]
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.

6. Ul H Iea] & F AT T F U I vF IR e werT [ar Srar g
A separate OMR sheet is provided for answering the questions.
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15.

j\%mmmgﬁawﬂmﬂaﬁmmmw%,wmﬂmiwmm

Wmmmmﬁvlaﬂéaﬁﬁﬁmmaﬁamﬁﬁﬁml

As the OMR answer sheet is being machine scanned, utmost care should be taken while handiing / bubbling
answers. No spare OMR sheet will be provided.

mﬂgﬁ-‘aﬁr#aﬁ#aﬁmw;ﬁamagﬁaﬁrmwslcmlam’raﬂmmwaﬂaﬁﬁz’r
arT T U TR A e

Question Booklet Code (A/BICIDIE} printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

geis A 1 3 T, Wﬁaﬁrwawﬁaﬂtmwﬁﬁvamwml T TR

&7 UF & EF 3eck et Jeal Aol S
All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

qﬁwﬁaxmwammmﬁw,m,mm,mm,m;m
Mmﬁémwﬁmmﬁmﬁwﬁaﬁmﬁlaﬁﬁmmmﬁﬁmﬁ
ﬁmaﬁﬁmﬁm@mwmw@mﬂaﬁmmm@mﬁéﬁm

W%@mmmﬁm@@rmlsﬂmﬁmmwmﬁﬁm
et T TEA & Tre BT S el

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.

mﬂﬁﬁmﬂ%ﬁmﬁﬂﬁmﬁ%ﬁvmmm%l

Space available in the Question Booklet can be used for rough work.
qfra-'lrwrcas’qu.mwmmaﬁzﬁmﬁﬂwﬁmﬁ?é#m?ﬁhnyaﬁwmm
aﬁaﬁfmﬁﬂgg&mémw#gwﬁ%ﬁmﬁaﬁmwﬁuﬁwaﬁaﬁzmm
s WEUE atas 9T

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to-the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

Mﬂ%wﬁ*mﬁﬁmﬁaﬁsﬁﬁaﬁﬂﬁ%i

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
qﬁwﬁm,mﬁﬁraﬂmmmgﬁaﬂmmmﬂﬁﬁﬂwqﬁ%m@ﬁﬁmaﬁm
ﬁamwﬁﬁ#mrﬁqﬁﬁﬁaﬁm%,mmmmﬁmwwmﬂ$mﬁaﬂaﬁ

ﬁmmmﬁarwﬁmﬁﬁmﬂmﬁ%aﬁaﬁﬁ@r%ﬁaﬂaﬁ%ﬁﬁ%l

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card fo the
invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigitator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

WMW$mﬁﬁﬁqmmmm,mﬁmﬁgﬁm$m%ﬁﬁaﬁ
e T T

The questions in English version alone will be taken as authentic though questions are given in Hindi also far
the convenience of the candidates.
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Al Fer T AEE a8 § o —— @ F

Units of kinetic energy is the same as that of

(a) TGO / Acceleration (b) 3T/ Velocity

(¢) R/ Work (d) &e/Force

e a/b=4, @ (a+b)(a-b) HT AT fraer £?
If a/b =4, what is the value of {a +b)/(a - b) ?

@ /5 ® 53
() 4/5 (d) 5/4

et & @ Fl-ar got 9t §7

Which of the following is a perfect square?

(a) 1057 ‘ (b) 625

(e 7928 (d) 64000

r

fodll 3T Y ofag vd WSS T I 3 : 1 ¥ ARy =lsE 7 ¥ ¥ amg &y wens ¥

The length and breadth of a rectangle are in the ratio 3 : 1. If the breadth is 7 cm, then the
length of the rectangle is:

(a) 14 ¥/ 14 cem () 16 ¥HI/ 16 cm
(c) 18 @&/ 18cm (d 21 3H/2lem

100 ®9Y & 5% T 5% g
5% of 5% of Rs. 100 is

(a) Rs.0.25 (b) Rs.0.50
(¢) Rs.10 (d) Rs.25

el # 3ftwdn Fee R gfavaar BT & @ sha 2

Which of the following can be the maximum carbon weight percentage in steel?

(@) 2.1% (b)  8.7%
© 4.2% & 6.67%

3 757-TN(M)



10.

11.

JenRd Sefel @1 3UERT %W%ﬁvf&mm%i

A graduated cylinder 18 used to measure

(a) #X/ Weight (b) GIHA { Mass

(¢) 3TIcst/ Volume (d Heicd / Density

IT%:WAMWIE'{E{@"WB10W1dﬂ$éﬂﬁwé‘rﬁﬂﬂﬁw@%.a’fWA$r
%WB%W&WW%‘?

If car A is at 40 km/h and car Bis at 10 km/h in the same direction, what is the velocity of the
car A relative to the car B?

(a) 40 Sraifeer / 40 km/h ® 50 fmey/eer [ 50 km/h
B3 W‘
© 10 fpafeer / 10 km/h @ 30 fpafyeer [ 30 km/h

ﬁ:@rﬁ@ﬁa&a@mmﬁm‘sﬁﬁ1001%%{7?:&6%,3?&:1320%%%@5&
qﬁfﬁa@aﬁmﬁm%iaﬁaﬁrsﬁﬁm%

Total electrical energy consumed by an electric heater is 100 KWh, if it works for 20 days at

the rate of 5 hours/day. Energy rating of the heater 18
(a) 800 @c/800 W () 1000 @i § 1000 W
(¢ 1200 @/ 1200 W (@ 1500 are / 1500 W

mﬁ@ﬁmwm%mwm%
Cork is a good insulator because it has

(a) r=E} s‘cﬁ??jﬂ / free electron

(by TXAT] Fard 34135& / atoms colliding frequency

(¢) Tt geAca / low density

{d) ‘@@‘:IDHT 1Y / porous body

Wﬁﬁm%ﬁ@rmwmm%

The pressure at any given point of a non-moving fluid is called the
(a) FRedies ae/ Barometric Pressure

() agHSHRE a9/ Atmospheric Pressure
(¢) 3rasnd I | Differential Pressure
(@) egaedias a9/ Hydrostatic Pressure

4 - 757-TN(M)




12. G U weler Siew & FaS, oas U9 wler$ w20 AW, 15 o w10 A & O s@E

13.

14.

15.

16.

17.

%ol GAg H AAD §

If a cuboidal box has height, length and width as 20 cm, 15 cm and 10 cm respectively. Then
its total surface area is:

(@) 1100 {2 /1100 cm? () 1200 |F?/ 1200 em?
(© 1300 &#?/ 1300 cm? (d 1400 ¥#?/ 1400 cm?

Wwwmmmwoﬁﬁr@rmwﬁsooﬁnﬁﬁm%m$
¥ 5 fercll-rgee @ HR 3o & forw foham s/ g1 eterar & o &, 39 Heer 10 ¥

A simple lever mechanism is designed to raise a load of 5 kN with a load arm of 100 mm and
effort arm of 500 mm. Calculate the efficiency if velocity ratio is 10. .

(a) 25% (b) 50%
© 5% d  80%

9T ABC ST B IR @#H®I0T §, # AB = 24 @all, BC = 7 9ol §, o cot C & 7=l &
In A ABC, right-angled at B, AB = 24 cm, BC = 7 cm. The value of cot C is:

(@) 12/7 )  24/7

e 20/7 &y 7/24 |
2tan 30°(1 + tan® 30°) =

(a) sin60° (b) cos 60°

(¢) tane60° d) sin 30°

95 fowg el Rl waaer I &1 T siwo Sload AT S §, Hgonar &

The point at which the total area of a plane figure is assumed to be concentrated is called

(a) g / Centroid ()  TEA &g / Centre of gravity
(c) “hg-fawg/ Central point (dy iEdE f9=g/ Inertial point

TH el s YoITaT W AT AR FT F47 Yg g &
What is the effect of hammering on elasticity of mild steel?
(2) FCAREUAT W HIs UG =41 usal &/ Has no effect on elasticity

(b) YEITEYAT "EdT §/ Decreases the elasticity
(€) VEURFUAr dgdl &/ Increases the elasticity
(d) YTHEREUAr Ugd "l § R §&dr €/ Elasticity first decreases and then increases

5 757-TN(M)



18.

19.

20.

21.

22.

s’sﬂﬁﬂﬁﬁwsﬁmmﬁqﬁﬁ?&ﬁﬁ faman ST ©

Sectioned view of & partin engineering drawing is shown by

(2) ETRer/ Hatching

(o) oihe / Shading
(@ F#1eoT / Dimensioning
(d SQ'%?H F AP &7 / None of the above

mmma@ﬁ%maﬁwmﬁaﬁﬁaﬁﬂqﬁéﬁwgﬁ

The solid having a polygon as base and triangular 1a‘1tera1 faces intersecting at a vertex is
(a) TfHs/ Pyramid b e/ Prism
(©) Qi”f { Cone (d) rg-gerd [ Torus

%%ﬁaﬁiﬁgﬁﬂmﬁﬁvéﬁﬂm&q{gﬁaﬁrﬁ

Center lines are used to locate or represent the centex of
(a) =T/ Arc

by g/ Circle

©) A M anid / Hidden round feature

(@ 3‘1‘{5?3 iy / All of the above

agag@mﬁasfavﬁmﬁﬁwqgwm%

For laying out large circles, which of the following tool is used?

(a) A HTerx / jenny caliper (b) el / trammel
(0 TawTar / divider (d) TS/ scribex
g ¥ed & F47 FE T

Purpose of hollow punch

(a) el o &% F1 Fg AURT &/ determining the center of a round job
by ol T3 fasg, @l T a1/ deepen 2 drill point
() uad Eﬂ‘é;f,aﬁ. TS AT S H a5 & of & & e/ for making holes in thin metals,

leather or wood board sheets

(d) Fhd Y@ErHT @ Al F& & Tav/ thickening the mark lines

6 757-TN(VD



23.

24.

25.

26.

gz IoR v 7w I & i g ¥

Difference between a hand reamer and a2 machine reamer

(a) I F A & AERT §77 H éﬁw 4T 9% / Longer taper lead at the front of the
cutting edge

(b) @I aTel Eidl @1 HT8d TEAT/ More number of cutting teeth
(¢) e AT gial T HH TBAT/ Less number of cutting teeth
(d) e arer fRaIRT &7 31TA A/ / Unequal spacing of cutting edges

TR F gl &7 3gaERT TR & 6 Rdvar &

The feature of providing uneven spacing of teeth on reamers is to.

(a) EIEIEE A AT &/ reduces chattering

() 3r=er [T URLIEEET TRAT FICT §/ achieves good dimension accuracy
(9 SAANT TRYSEAT BT AT § / achieves geometrical accuracy

(d) USUSIET A FT &/ reduces spattering

e afor 9% W C60K5VS 3ifha ¥ s wdor ws & AT Sl @ svede s9aer F arr
ST 87

A grinding wheel marked with C60K5V8. Which of the following abrasive is used for this
grinding wheel?

() VIR HFEES / Aluminium oxide
() TPl FEises/ Silicon carbide

(¢) BRI/ Diamond
(d) ®REA/ Corundum

AR gy & fgs 9 o ————— F W I o ———

In the vertical mill, milling cutters are held in the and

(a) aﬁ;, %] HET W Elfl?f & / Spindle, rotates on its axis

(b) Hé, Gﬂrﬂ‘)i:id Al § / Spindle, reciprocates
(©) €1, SUGHTAT Fr § / Arbor, reciprocates
(@) :-mfgﬁ H ¥ FE 7T / None of the above

7 757-TNQV)



97, AT TE T T F FeS F fAT dgoR NES T ol ©
Preferred milling cutters for cutting soft steel and brass is

(a) HRY e AT Fd® / Heavy duty Plain milling cutter
(b) FeoaT toldd fafefer &de® / Light duty Plain milling cutter
(c) 'fg?»ﬁETT fAfeler ae / Helical Plain milling cutter

(d) 3adRa A Faw / Inserted milling cutter

908. 18-4-1 HSS # dafeuwdr uiderdar &
In 18-4-1 HSS, the percentage of vanadium is

(a)y 18 (b) .4
e 0O @ 1

.

09, el s, R AT B 3 R F GERT S §, G UTq ge H afar FEed

The process of removing metal by a cutter which is rotated in the same direction of travel of
work piece, is called

(a) 39 AT/ up milling (b) B3 AT / down milling
() Tds AT / face milling (@  3d AT / end milling

30. ey T A URTE F 40 @ o e aTel WURT sl R g 120 @A Tt A
STET ST §, SRTRATOIER BT I g

Circumference of a work piece is to be divided into 120 equal divisions using simple indexing
method having 40 worm wheel teeth. Indexing movement will be

() 18-78% g WX 6-f&% / 6 holes on 18-hole circle
() 18-f&g ga W 12 &g / 12 holes on 18-hole circle
(@ 21-3% 9§ W 6 3% / 6 holes on 21-hole circle
(@ 21-Bg g9 W 12 &% / 12 holes on 21-hole circle

31. wda TAfir wdw wgFd g ©
Slab milling cutter is used

(2) T 3e0+= FoT & ToT / To produce gear

() BEed 3T I & T / To produce dovetail
(o) THIE 3cdeeT Fr & v / To produce slot
(dy HHAIA Hdg oo Ful & foIw / To produce plain surface

A 8 | 757-TN(M)



32.

33.

34.

35.

36.

37.

T fAfelar garer & wcet ®E 10 FV/f@ee § 3N 10 3R 9w & g gAd gdr &
HEAT 50 §, i &l g ———— & suel §

In a milling operation cutting feed is 10 mm/min and number of teeth is 50 rotating with
10 rpm. Feed per tooth in mm is equal to

(a) 0.02 (9] 0.04
{¢©) 0.06 (d) 3FHRFT H F HIS T80 / none of the above

Al mihe & B 7 § & e & Fde sisia gar 87

Coolant is stored in which of the following part of milling machine?
() 3TYR/ Base (by FIFH/Column
(¢) H¥eeT/Knee (d 29/ Table . &

IR geref & AT & Wy, Wifd gws gid 8

While machining brittle materials, chips formed is

(a) Tdd gﬂ% !/ continuous chips

(b) IHEAT -§$‘5_}l discontinuous chips

() 9 %2 / built-up chips |

() F& eqard F Ty SCR;EE\' a3 / all of the above with some proportion

férel W Feeler @iaT frg 7 SanT Fer St §

Helical groove on a work piece is cut by which machine
(a) FEanrR AT / Vertical milling (b) &EdsT [RAfeer / Horizontal milling
(¢) <X 83 AT/ Turret head milling  (d)  @rdsiia AT / Universal milling

ACME 95 #T 98 #of § ——
The thread angle of ACME thread is

(a) 45° , ) 60°
{c) 30° (d 29°

¥ Tl HLA TF dIRGT T8 W a1 W & [0 Fgeh 1 IOT-4H § ——r

Property of lubricant to withstand pressure and remain on bearing surface is
(2) elger / Oiliness ()  3FA-faTg / Fire point
(c) Wf—ﬁ@/ Flash point (dy  IeTar / Viscosity

9 757-TN(M)



38.

39.

40.

41.

MW%%@,ﬁmﬁﬁﬁiﬁmmW%

TFor fixture, which of the following is a wrong statement?

() UE P W TS F AU vgEd A e/ Itis used to hold the work
(b)y IE T & =Y FH & AT ‘;!g'q"'ﬁ grar %' / It is used to position the work

(© U8 gﬁ? Fr o aRYEHar IRt T ¥ / Tt assures high accuracy of parts
(@) IS FaF 3THT B AES e & TXT wIFd g ¥ / Tt is used to guide the cutting tool

50 mﬁrwwu‘ﬁﬁmm%ﬁrm%maﬁraﬁﬂﬁﬁuﬁmﬁm

Find the cutting speed in m/min of a 30 mm diameter cutter rotating at 50 rpm.

(a) 0.025 7@ ' ® 1lb~x
© 1B=7 (d) 25

ﬁmq\émﬁraﬂﬁﬁﬁmﬂmﬁﬁﬁwﬁ

Match the following part programming co des with their respective functions

& QAT DS/ F / Functions
Part Programming Codes _
P. GO1 L. Ff§ 9 / Spindle Stop '
Q. GO3 1. o U, Feeams [ Spindle rotation,
clockwise
R. M03 L e sadee, @ et [ Cireular
Interpolation, anticlockwise
S. M05 Iv. Yf@® 3fadue / Linear Interpolation i
(a) P-IL Q-L R-1V, S-II1 ) P-IV; QIL R-II S-1
(¢ P-IV; QIIL R-I S-1 (@ P-IL QIV,RIISI
S-AIE ¥ T H o TG

G-codes are also known as

(a) WRIESTE @IS / preparatory codes
®) 3u TR FIE / sub routine codes

(¢) JHUHIOT =L #E / tool selection codes

(d) fafde #3 / miscellaneous codes

10 757-TN(M)




42.

43.

44,

45.

40 H7/d9 & &% wd 41 39 Soheoe &, 7 geffar ¥

In the hole and shaft pair designation of 40 H7/d9, the numbers 7 indicate

-

() TEIAr T / Tolerance grade
(b) FH HTHIT / Basic size
) &g & v Hiee B9as / Fundamental deviation for hole

(d) o % foau #Aifaes f@9es / Fundamental deviation for shaft

afg o FaE S el el Wy @ ' gt W § o swfadn aegar ———
ART GRS ST =T "

If two surfaces that are of the same distance from each other at all points, then the geometric
tolerance to be represented by

(a) ¥9eqe/ Flatness () GATATT / Symmetry

(¢ wFIaddr / Perpendicularity (d)  HHAATAT / Parallelism

0.01 Wﬁm@wmwo.osmmgﬁwaﬁé%ﬁaﬁmuﬁm
%mﬁmmﬁmmmm%taﬁﬁ@@hﬁﬁ%ﬁo,sﬁﬁr%ﬁmeﬁaﬁw
25 97 oRT AET T W@ ¥ T A § ar fe f Aed Far 32

A screw gauge having a least count of 0.01 mm and a negative error of 0.05 mm is used to
measure the thickness of a thin sheet of Aluminum. What is the thickness of the sheet if the

main scale reading is 0.5 mm and the 25t division of thimble coincides with the main scale
line?

(a) 0.50 &Y/ 0.50 mm by 0.75 A#T/ 0.75 mm

(¢ 0.80 H#AT / 0.80 mm (@ 0.70 H#I/0.70 mm

METST &FreT FT T T & AT 57 Foll 7 gy 9T v Fgenar &

Removing dull grains in order to make grinding wheel sharp is known as

(a) @3 / Loading (b) FATSRT / Glazing
(¢} 3SfHT / Dressing (d) &89 / Trueing

11 757-TN(M)



48. q‘féagﬁs’tqmﬁtﬁa‘aﬁr%,ﬂmmmﬁﬁm%

47,

48.

49,

Point to point systems is those that move the tool or work piece

() UE faeg & g Reg o AT 99 3UERoT T FEar &/ From one point to another point
and then tool performs the work

(b) TIER T R T g ¥ g g aF 3K 9 30T FF FRAT &/ From one point to
another point in a circular path and then tool performs the work

() mwwﬁwﬁﬁﬁwmwmmwmm%/ﬁomone

point to another point in an elliptical path and then tool performs the work

(@ TH ¥ HIS A87 / None of these

g wicewra Jaael #, arfer afer #F afafda gk gl
In a quick return mechanism, —————— motion is converted into ———— motion.

(a) W, areiAT [ Reciprocating, oscillatory

(b) &XIHAY, T=BNHT / Oscillatory, reciprocating
(¢) &=, gull / Reciprocating, rotary
(d) H;Uﬁ', WEETHT [ Rotary, reciprocating

Wamwmmﬁﬁﬁw$mﬁmmmmm%
Which of the following tools is most suitable for the milling of very hard and brittle material?

(a) T H TH/HSS

(b) TeE-wiaTee [AHUN] / Cast-cobalt alloy

(c) FEEsH / Carbides
(d) 3T Hea i [/ High carbon steel

e & we et B gaftr & wiawd gl §

‘ Increase in carbon content in steel results in

(a) 3ETEEtAAr H gef¥ / Increase in malleability

(b) ToIH # G5 / Increase in ductility
{c) WcIrEAdr F AN H Hc"c\'f?-\l !/ Increase in modulus of elasticity
(d) 3"?&33‘?[ F & #i5 T8l / None of the above

12 757-TN(M)



50.

51.

52,

53.

54.

W Tl YD &l HONHF Atd B0 ATHIA: JaT 3 omar §

Negative rake angle is generally provided on the tool made up of

”

(a) T vy ww/ HSS (b)  IIFIOT ¥ / Tool steel

(c) TINEHT FE55 / Tungsten carbide (d) 3TT FEsT TEF / High carbon steel

S g1 HaurenioT Y gFEeiT WX E 3R e v & wer & § oar ey g oy #

When the shafts of two bevel gears are at right angles and the gears are of the same size, then
the gears are known as

(a) #HX PR / Mitre gears ®) gREEE R / Herringbone gear
(© gears FRY [ Hypoid gear G)) ?jl;_s'ﬁ?r ’;I‘éi'ﬂﬁﬁgT 19T / Spiral bevel gear

AT 9o 7 BT G T B B ATT 3689 ¥
The main purpose of using worm and worm wheel drive in a machine is to

() Faaw FrRR HJUIT YeTst &3/ Provide lower gear ratio
(b) & ¢ ¥ g e T A & 9 A AT / Provide large speed reduction from worm

shaft to worra wheel '

(¢) WE VORI & AT 3c0e=T eI WONE T &H aal / Minimize the axial thrust

generated during power transmission

(d) 9R AT Toege INWOT UG FY/ Provide noise less power transmission

HA-H U FA &S AGAT R 59 g §

Which of the metal is liquid at room temperature?
(@ 9RFATH / Beryllium ®) BT / Lithivm
(¢) YNg / Mercury (d) NEFEIFT / Osmium

Hihe & & M F GgrE & F v R adwe By @) a3 wer B wher w8 o ¥

The process of enlarging the end of an existing hole to accommodate the head of socket screw
is called

(a) wdic %A / Spot facing (b)  uR$EA / Boring
(¢) i 9f¥digsT / Counter boring (d) @3ex f&fFHT / Counter sinking

13 757-TN(M)



55. T & FA-AT YT TE B

56.

57.

58.

59.

Which of the following statement is correct?

() EUH-8F F @Y F Y gy gAer @gal & / Friction always increases with the

increase in area of contact

(by Tor #r fERr ewmT AW g@ HRRm ¥ gaen faulte @dr § / Direction of friction is
always opposite to the direction of applied force

(0 e uidfsear a& £ from w¥uraw ¥ faula gl § / Direction of normal reaction

force is opposite to frictional force

@ ¥ GUR-TEE T THd W 9 Fear § / Friction is depended on the nature of

contact surfaces

i T FEE @ s & T et o § R g Rl e 82
Which one of the following is used for holding end mill cutter?

(2) Fore ¢ / Collet Chuck (b) 78« &) / Draw in bar
(¢) wec €T / Collet Arbor ( ¥ g/ Stub Arbor
G & T A §

Gauges are made of

(a) @oiar aigr / Cast Iron () oerdl ¥orer / Cas:t Steel
(c) g e [ Alloy Steel (d) = e / Mild Steel

Dwell period of the cam follower mechanism is defined as

(a) T&h AT & Hiaial @l 3m°[€UT / Period of rise of follower in one revolution

(b) T aREHAT F Wielal H 31a0E0T / Period of fall of the follower in one revolution

(¢) U& GRgaT & wiehay & Fol &0 / Total travel of the follower in one revolution

(@) TH IREAT H HelaT & 70T o B @ Ha® / Period of no movement of follower in one

revolution

gfpeT gaNT U1 FTT geTY B I8 Seve T S §
Screw threads are produced without metal removing by a process called
(a) 95 &feer / Thread cutting () 9= ITST / Thread chasing
(@ &3 AfSRr / Thread rolling (@)  &fr / Tapping
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60.

61.

62,

63.

64.

65.

el e & 40% Foarl ARend §1 40% AR 3R 60% T fredr sieER & R
AR X 81 3FAIGAR &a@rT grider far arar are giaed § ————

In an office, 40% of the staff is female. 40% female and 60% male voted for a candidate.
The percentage of vote, the candidate got was

(a) 24 () 42
(c) 50 d 52
TFeRIE ®I0T, SACHF ATd BIOT U HiEar Jof T & AT (BT FH) FHA ——e BT B

The sum of the clearance angle, positive rake angle and cutting wedge angle (in degree) is
always

() 90 ¥ 3% / more than 90 m) 90
(c) 90 ¥ & [ less than 90 (d) 105

fepelT FarerEeler T awer 240 Wa? § 3R Rl &F & v Y ders 16 Fh §) weEgse &
gAY Tt &Y oerS add|

Axea of rhombus is 240 cm? and one of the diagonals is 16 em. Find the other diagonal in cm of
the rhombus

(a) 16 ' ®y 20
(© 30 (@ 36

Ife sin 45° =Db cosec 30° §, o*/b* &7 AT A &?

If a sin 45° = b cosec 30°, then what is the value of a*/b*?

(a) 68 o) 4

{c) 33 (d) 23

et &gy Saeh W T —— gar

Angle of a center punch is

(a) 30° (by 45°

() 60° (d) 90°
uiv=4:7v:w=9:7,9E u=72 %, FwHp AT § ————?

uv=4:7,v:w=9:7,if u =72, then value of w ig?

(a) 98 M) 77
() 63 (@ 49
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66.

67.

68.

69.

70.

ﬁs@rm—sﬁmﬂa&rgﬁfsoum%la’é‘rqaaw%,aanrsﬁmazmlfi{ﬁm%

A micrometer has a positive errox of 30 pm. What is the correct reading when the micrometer
measure 25.41 mm? "

(a) 2538 () 25.44

(¢) 25.39 (d) 25.45
a@ﬁmﬁ@ﬁmﬁmﬁwmm%m@ﬁamﬁw
R AT ET B

The ability of metal to be drawn into wire is a measure of its ——————— and the ability of

metal to resist seratch is a measure of its

(a) T, Foar / Ductility, Hardness ““ ‘

(b) HTETISEETAT, HIRAT / Malleability, Hardness
(c) mamaé}w, Fa19sT / Malleability, Toughness

(d) T, H39e / Ductility, Toughness

ST g ¥ Seked A RRdr awg F TR arel YEr ————— Y@ gkl gl

The type of line that project from an object for the purpose of locating the dimension is a
——line.

(a) TRESE / Section (b) Twg / Dotted

(0 TEIR / Extension () f&AT / Dimension

R UAT #, Bl B ¥ R T ¥ ——— 3 & Ao S

In isometric projection, the edges of a cube make an angle of ————— degrees with each
other.

(a) 30 b 60

© 90 (d 120

Sl TU §OE W BT O 9 g ¥ RU sgEad ————— SEeoE TR
INELTHT B

Minimum number of orthographic views required to represent a solid on a flat surface is?

@ 1 _ (b)
(© 3 (D)
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71.

72.

73.

74.

5.

76.

e & O rw T & @& W 3R d9 ser aar 2

In which of the following case hardening process, Ammonia gas is introduced on steel?
(2) WIS / Cyaniding ) (b)  =SCIsiEer / Nitriding
() E@l‘@ﬁm { Carburizing (@ IS / Ammonizing

M16 x 1.5 & T &0 Ba 7 3R Ruifa &t
Determine the tap drill size for M(16 x 1.5

(8 13.5 AT/ 13.5 mm () 145 THAT / 14.5 mm
© 15 @&/ 15 mm (@ 15.5 BT/ 15.5 mm
FEAT STAR TR F & Fyw s R S

In heat treatment process normalizing is done to
(a) FRARIAE e / Improve the machinability

(b) T TIGAT qﬂ@fﬁ &3 [/ Refine grain structure
(c) HORAT gk / Increase the hardness
(d) H?lw gGleT / Increase the brittleness

FEAT 39AR UhAT H JIOH 50° 967 AT ST &1 a9Ae # FAged da feas 7 feae
g7

In a heat treatment process, temperature is increased by 50° Centigrade. What is the
equivalent rise in temperature in Kelvin?

(a) ~223 by 223
(c) 50 d 323
AT RAGTOT F FROT HET FT § —————— IeTe Bl

arises majorly due to machine deflection.
(a) o / Lay (b)  YTITAT BT / Primary texture
(c H@l?fff aleleT / Waviness (d) @M / Roughness
SoNfraRer sm@er 7 gy $r darg ik @isE F eEa qewneT g §

The length to width ratio of an arrowhead in engineering drawings approximated to

(@ L5 by 81
(o 1:3 d 51
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717.

78.

79.

80.

et & FlaT-0T ITIAH Tag YRSHOT FRAT?
Which one of the following option will represent highest surface finish?

-~

(@ V () Vv
() VWV (d) Vv

T R et # SfSey fag & d69a &§ Sla-ar F9 93d 87
Which is an incorrect statement regarding idle gear in simple gear trains?

(2) I IM3CYT PRI & gola & f&er 1 qgem & faU 9ed & & / It is used to change

the direction of rotation of output gear

(b) TF I3CYE PRR & wergel F seR & T G g § / It is used to increase torque

of output gear

() ¥F FAYC T HBCIE AME & A F9 NP #7 oRA & A0 w3 g & / It ds used to
fill the large gap between input and output shaft

(@) WERT PR EER ¢ & s e BT Tfa A& F / Idle gears will not affect the

speed ratio of gear train

Shferafier smor # #$ wae of qar aefiar IR g1 0.4 e ¥

A surface is represented by 0-;{/_ in an engineering drawing. 0.4 indicates

() 0.4 A NiFg & T o $r 2T / Direction of lay with the spacing of 0.4 mm

() 0.4 pm T Wdg GIERT / Surface roughness of 0.4 um
© 0.4 & & dufelr @ & WY ¥dg GERYT / Surface roughness with the sampling
length of 0.4 mm

() 0.4 pm FT TETAT / Surface waviness of 0.4 pm

ey 3@ & JH 9925 h7 & ®7 & g7 W g Fer F awe dr Fud den g
A dimension is stated as @25 h7 in a drawing. The upper limit of the shaft in mm is

(a) 24.985 ®)  24.979
(¢ 25.00 @  25.021
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